EARAROBEEIERT — 2 N— IBISH —F

20195F9R3H (PA) 12[@£7R4H

mﬁ‘é%md\ﬂ(?ﬁ# )agLy)iEsl B21 ¥5%—# ‘ [x1z] # ‘ [eErsm]  — | 4 (A) 17000 RE
[A&4] 1 #%:300,00 M ~ 23#%&:69,000M ~ 3#%&:36,000H  43#%:27,000 M 57 :18,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= ST s 4 | BEELLA 1:53.0 2-1-1-1 | 40.7| — 2 413 | £H—8 (&R)
1Y 3| 7=y Tuh 54.0 =) © |EBEE
R:/GTURN B> FTIY "HET77— L4
9 5o, 1 o4 | SHERE 1:53.3 3-3-3-2 |41.0| — 7 453 | DIEEFIE (£IR)
2 g| -7 ~/¥LR . 54.0 (1 1/2) Ga) | B Z7-XhEVaL
R:Z28—)>7A0—-X B:TSAT7>H—U2 BLEMS
. . o9 | RFTR 1:53.4 4-4-4-4 | 40.6| — 3 475 | SIEEKE (£R)
3 N 4 JW—ILd—IV KR A53.0 (1/2) -7 ’élll%ﬁ
L—A7a— #:H2 i)
. 5 # o6 | MEBES 1:54.3 5-5-5-4 | 41.4| — 8 430 | EHEX (£R)
4 0Y 6 TAYhA—=TIL 56.0 i o ) TR hEYg s
L7 RYA ¥ L= B:U4yyaAv R BINET 7 — L
K — A # 5 | HEFBAX 1:54.4 1-1-1-2 421 | — 1 477 | £E—E (2R
S > PR 56.0 (172) Gy | EEE
L:ZM)—bEPR BTATF—FT1X fult e ]
[T 4 4 | BEARE 1:54.6 8-7-6-6 |41.4| — 4 483 | EHEX (£R)
6|11 btz b .0 0! Gy | 08 77-2bEvay
L:bh=—t2hvLRY BEFLRNCT—F BRRStt IXF1T77—LA
S, 00 6 | BREBH 1:55.7 7-7-7-71 | 42.5| — 6 405 | ERRE (£R)
715|571t ) ) 54.0 ) o) | NEE
LN=—HNE B:HET T N— b FE%S
) t 4 | PEED 1:56.0 6-6-8-8 | 42.5| — 5 516 | EiEakE (£R)
glzl7|FVarEYF 54.0° 1 1/2) (o) | FTHIIE—
L:ANTz—"g) B:F—ZX3Iv2 [Elzksec)
@ 1—F—@&BIEf
13=7r= 2,3,8,4,6,7,5,1
2o=7r= (2,3),8,4,6,7,(1,5)
G§a=7r= (2,3),8,4,6,1,5,7
43—F— 3,(2,8),(4,6) ,1,5,7
[ RN
B OB 3 310H 714K 3-8 1,470H B E 3-8 4,410 &R 3-4-8 7,530
% B 8 160 3-4 340 | | B H 3-8 7,100 | | 3EE 3-8-4 47,120
8 640M 4-8 2,250/
4 1609

ABICOVWTRDTEEERROODE. TR LIV,




